
Rešitve računov pisnega deljenja za petek 

 

 

Pisno deljenje      Preizkus 

 

2 3 4  :  3 = 7 8     728 ∙ 3   

   2 4                  234 

      0 

 

5 7 6  :  8 = 7 2     712 ∙ 8    

   1 6           576 

      0 

 

1 0 5  :  5  = 2 1     21 ∙ 5 

   0 5           105 

      0 

 

4 3 2  :  2  = 2 1 6     2116 ∙ 2   

0 3              432 

   1 2 

      0 

 

3 0 6  :  9  = 3 4     334 ∙ 9   

   3 6           306 

      0 

 

3 0 8 :  7  = 4 4     424 ∙ 7 

   2 8             308 

      0 


